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1 Solve
y’ —dy=H{fe ™ ' ' ' | (10%)
forall real 7.
2. Find the géﬁeral solution of

Y-t gy=xel o (15%)

3. Solve the initial value problem

V' 28/ ~ 4y =1;3(0) =y/(0) = 0. o asw)

4. Solve

§ S dx +
X +y X +y

dy . . . (10%)

with C any simple _closéd path lying in the x, y-plane but not passing through the origin.

5. Let F = —yi -|—.xj xyzl{ and consider the surface 2, consisting of the part of the cone
z= Jx +y* for x* + y?<9. Compute both 31de of the conclusion of Stokes's theorem.

(15%)
6. Let
- ,0<x<Z,
)= 2, ><x<T (15%)

Expand this function in Fourier sine and cosine series on [0, 7].

éf -
7. Solve.the pamal d1fferent1a1 equation
2’:' 25”,' O<x<L,t>0),

u(0,1) = 0, 2L, ) = ~Au(L, ) (1= 0), ' (20%)
u(x, 0) : j(x) (O<x<L)



